6.24 n=64, x =0.323; ¥ = 0.034

a. Hy u=036
Hy 1<036 :
a=0.10 _
Rejection Region: z < 2519 = -1.28 ' -
0.323-0.36
-1.605
T (J0.034) /(V68) R

- z is in the rejection region; so we reject Hy at the 0,10 level of significance. There is sufﬁc:lent
o evidence to suggest the mean is less than 0.36 at the & = 0.10 level,

L b. Hp: n=0.36
P Hy: op#-036

Rejection Region: 2 <zg05 = -1.645 or 2> 2y 05 = 1 645 -

0.323-0.36 ' I
~—1.605
“= o034 YiI(64)
: - . zisnot in the rejection region; so we cannot reject Hy at the 0.10 level of mgmﬁcance There is -
- insufficient evidence to suggest the mean s different from 0.36 at'the o = 0 10 level

a. The rejection for this the one-tailed test at a significance level of o = 0,01 is z < 2.33.

19.3-20

11.9/46

c. zis notin the rejection region; so we cannot reject the null hypothesm. We cannot reject the
claim that the mean number of gloves used per week is 20; nor do we have sufficient evidence to
accept that the mean number of gloves used per week is less than 20.

b. The test statistic is z = ~-—0,399
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